SALE OF PARTNERSHIP TO A LIMITED COMPANY
1. Calculate the amount of purchase consideration from following details:
The purchasing company agreed to issue 15,000 equity shares of Rs.10 each valued at Rs.12 each, 6,000, 6% debentures of Rs.10 each at discount of 5% pay cash equal of face value of shares and debentures issued. The company also agreed to meet dissolution expenses of Rs.2,500

2. Calculate the purchase consideration from following details:

The purchasing company agreed to issue 8000 equity shares of Rs.10 each at par, 500 8% preference shares of Rs.100 each at 10% premium, 1000 debentures of Rs.50 each at 10% discount and pay cash equal to 10% of total purchase consideration.
Problem under Net Payment Method:
3. The Balance Sheet of A,B & C stood as follows as on 31st December 1998
	Liabilities
	Amount
	Assets
	Amount

	Creditors
	20000
	Cash
	9000

	B/P
	5000
	Stock
	26000

	Capital A/c’s
	
	Machinery
	19000

	A’s Capital A/c
	24000
	Furniture
	10000

	B’s Capital A/c
	24000
	Debtors           25000
	

	C’s Capital A/c
	14000
	Less: Reserve   2000
	23000

	Total
	87,000
	
	87000


It was decided to sell the business to PQR Co. Ltd. The company agreeing to allot 7500 fully paid shares of Rs.10 each and Rs.1800 in cash in full satisfaction of the purchase consideration. The company assumed all liabilities expect the Bills Payable and took over all assets except cash. The expenses amounted to Rs.800 which were paid by the firm itself. The partners shared profit and losses in 3:2 and 1 respectively
Prepare necessary ledger accounts showing the final settlement among the partners.

4. The Balance Sheet of A,B & C stood as follows as on 31st Mach 2001
	Liabilities
	Amount
	Assets
	Amount

	Creditors
	34000
	Cash at Bank
	12400

	B/P
	2400
	Stock
	44000

	Capital A/c’s
	
	Machinery & Plant
	30000

	A’s Capital A/c
	40000
	Fixtures
	3000

	B’s Capital A/c
	40000
	Debtors           40000
	

	C’s Capital A/c
	20000
	Less: Reserve   2000
	38000

	
	
	Goodwill
	9000

	Total
	136400
	
	136400


It was decided to sell the business to a Limited Company agreeing to allot 12000 fully paid shares of Rs.10 each in full satisfaction of the purchase consideration. The company assumed the liabilities expect the Bills Payable and took over all assets excluding the Bank balance. The partners shared profit and losses in 1/2, 1/3, and 1/6 respectively
Prepare accounts showing the final settlement as regards the partner assuming that the shares were dully allotted.

5. X,Y and Z are equal partners in M/s. XYZ. The Balance Sheet of the firm as at 31st December 1992 was as follows
	Liabilities
	Amount
	Assets
	Amount

	Creditors
	100000
	Land and Building
	120000

	Loan from Bank
	500000
	Stock
	300000

	Capital A/c’s
	
	Plant and Machinery
	200000

	X’s Capital A/c
	50000
	Debtors
	100000

	Y’s Capital A/c
	100000
	Z’s Capital A/c.
	30000

	Total
	750,000
	
	750,000


On that date it was decided that the firm would be converted into a Limited Company on the following terms:

a) Land and building be valued at Rs.200000
b) Plant and Machinery be valued at Rs.250000

c) 10% of book value to be written off for obsolete stock

d) A reserve for bad debts to be made at 10% of debtors

e) A reserve for discount on creditors at 6% to be made

f) The new company would issue 12000 equity shares of Rs.10 each fully paid, such shares to be valued at Rs.150000and 660, 8% debentures of Rs.100 each.

g) Shares and Debentures are to be distributed according to profit sharing ratio.

h) Additional and excess capitals are to be adjusted accordingly by bringing cash or by paying off the same.
Close the books of the firm and open the accounts in the books of the company.
Problem under Net Asset Method:

6. Mahadev and Govind are partners sharing profit and losses in the ratio of 2:1 and their Balance Sheet on 31st Mach 2001 was as follows:
	Liabilities
	Amount
	Assets
	Amount

	Creditors
	20000
	Cash at hand
	150

	B/P
	5000
	Stock
	28500

	Mahadev’s Loan A/c.
	10000
	Bills receivable
	2500

	Mahadev’s Capital A/c
	15000
	Machinery
	10000

	Govind’s Capital A/c
	10000
	Debtors           30000
	

	Reserve Fund
	3000
	Less: Reserve   1500
	28500

	Total
	63,000
	
	63,000


They agreed to sell the business to a limited company to take over the assets including cash and liabilities as follows:
Machinery at Rs.8000

Stock at Rs.17500

Debtors at Rs.25350

Bills Receivable at Rs.2500

Goodwill at Rs.3000

The company agreed to take over creditors at Rs.19500. The expenses of realisation amounted to Rs.150
The firm received Rs.20000 of the purchase price in Rs.10 fully paid equity shares and the balance in cash. Pass journal entries and prepare ledger accounts in the books of the firm.

7. Anand and Bishan carrying on business in partnership decide to dissolve the firm and sells off the business to ‘C’ Company Ltd. On 31.3.2001 when the firms position is as under
	Liabilities
	Amount
	Assets
	Amount

	Creditors
	22250
	Land
	40000

	Capital A/c’s
	
	Furniture
	3320

	Anand’s Capital A/c
	33000
	Stock
	15380

	Bishan’s Capital A/c
	17000
	Debtors
	8430

	
	
	Cash
	5120

	Total
	72250
	
	72250


The agreement with the company is as follows:
a) Land purchase at Rs.50000
b) Furniture and stock are taken at 10% below the book values

c) Goodwill of the firm is valued at Rs.7500

d) Debtors are taken at Rs.8000 but the creditors at the Balance Sheet figure

e) The P.C. is to be discharged by the Purchasing Company in fully paid equity shares of Rs.10 each. Show realisation account, capital account, ‘C’ Co. account and equity shares account in the books of firm.
8. A, B and C carried business in partnership sharing profits and losses in the ratio of 3:2:1. They decided to convert their business into a private limited company. A new company, A,B,C Pvt. Ltd. was duly formed with an authorized capital of Rs.300000 divided into 22500 equity shares of Rs.10 each and 7500, 10% cumulative preference shares of Rs.10 each. The company took over the firm’s business as on 31st December, 2001, on which date the firm’s Balance Sheet stood as under:
	Liabilities
	Amount
	Assets
	Amount

	Creditors
	14000
	Furniture
	3000

	A’s loan A/c.
	20000
	Stock
	90000

	Capital Account
	
	Sundry Debtors
	26000

	A
	75000
	Machinery
	32500

	B
	50000
	Motor Car
	9000

	C
	30000
	C’s Current A/c.
	10500

	Current Account
	
	Bank
	43000

	A
	14625
	
	

	B
	10375
	
	

	Total
	2,14,000
	
	2,14,000


The debtor are all good and are taken over by A who has also agreed to pay the creditors. The company took over machinery at its book value stock at an agreed value of Rs.83000, furniture Rs.2250, motor cars at Rs.8000 goodwill valued at one year’s purchase at average profits of previous three years and the bank balance. The profits earned by the firm in the previous three years were: 2001, Rs.22000: 2000, Rs.21000; 1999, Rs.17000.
The company agreed to discharge A’s loan by issue to him at par of 1500, 10% cumulative preference shares of Rs.10 each credited as fully paid, and a cash payment of Rs.5000. The balance of the purchase consideration was to be discharged by the issue at par of 15000 equity shares of Rs.10 each, credited as fully paid and balance in cash.

You are required to prepare Realisation Account, Capital Accounts and ABC Pvt. Ltd’s Account in the books of the firm and the opening Balance sheet of the company assuming that all the transactions are dully completed.

9. David and Evans sharing profit and losses equally decided to convert their business into a limited company on 31st December, 2001, when Balance Sheet stood as follows:
	Liabilities
	Amount
	Assets
	Amount

	Sundry Creditors
	24000
	Cash
	33000

	Loan Creditors
	20000
	Stock
	8000

	Bank Overdraft
	8000
	Machinery
	8000

	Reserve Fund
	3000
	Patents
	4000

	Capital A/c’s
	
	Debtors
	7000

	David’s Capital A/c
	20000
	Land and Buildings
	30000

	Evan’s Capital A/c
	20000
	Bills Receivable
	5000

	Total
	95000
	
	95000


The company has agreed to base purchase consideration on the following:
I. The goodwill of the firm will be valued at two year’s purchase of the average profits of the previous three years.
The past working result of the firm showed that they had made profits of Rs.15000 in 1999, Rs.18000 in 2000 and Rs.21000 in 2001, after setting aside Rs.1000 to Reserve Fund each year.

II. The company will take over the loan creditors by offering in 7½ % Preference Share; the company will not take over Sundry Creditors and Overdraft.
III. Land and Buildings will be valued at Rs.50000 and Machinery at Rs.12000 and all other assets taken (expect cash) valued at their book figures.

IV. The vendor to be allotted ordinary shares of Rs.10 each to the amount equivalent to the purchase consideration.

You are required to show the Realisation Account, Capital Accounts and other important accounts in the books of the firm assuming that all the transactions have been duly completed.

10. Shashi and Vasu, sharing profits and losses equally, decided to convert their business into a Limited Company, on 31st December 1985 when their Balance Sheet stood as follows:
	Liabilities
	Amount
	Assets
	Amount

	Sundry Creditors
	48000
	Debtors
	60000

	Loan Creditors
	40000
	Stock
	36000

	Bank Overdraft
	16000
	Bills Receivable 
	10000

	Reserve Fund
	6000
	Patents
	8000

	Capital A/c’s
	
	Machinery
	16000

	Shashi’s Capital A/c
	40000
	Land and Buildings
	60000

	Vasu’s Capital A/c
	40000
	
	

	Total
	190000
	
	190000


a) The goodwill of the firm was to be varied at 21 years purchase of the average profits of the previous three years.
b) The Loan Creditors has agreed to accept 7½ % redeemable Preference shares in settlement of his claim

c) Land and Building and Machinery were to be valued at Rs.100000 and Rs.24000 respectively

d) The vendors were to be allotted equity shares of the value of Rs.210000

e) The past working results of the firm showed that they had made profits of Rs.30000 in 1983, Rs.36000 in 1984 and Rs.12000 in 1985 after setting aside Rs.2000 to Reserve fund each year.

You are required to show Realisation Account and Capital accounts in the books of the firm, and opening journal entries in the books of the new company.

11. A,B and C were the partners in a firm sharing profit and losses in the ratio of 5:3:2 on 31.12.1993. They agreed to sell their business to a limited company on that date their position was as follows:
	Liabilities
	Amount
	Assets
	Amount

	Creditors
	30000
	Buildings
	90000

	Loan from Bank
	10000
	Stock
	25000

	Capital A/c’s
	
	Machinery
	15000

	A’s Capital A/c
	60000
	Debtors
	35000

	B’s Capital A/c
	36000
	Cash
	1000

	C’s Capital A/c.
	30000
	
	

	Total
	166000
	
	166000


The Company agreed to take over the following assets at the values shown against them.
	
	Rs.

	Buildings
	100000

	Stock
	26000

	Machinery
	10000

	Debtors
	32000

	Goodwill
	20000


The company also took over the creditors at Rs.28000. The company paid the purchase consideration by allotment of 10000 shares of Rs.10 each and the balance in cash.
The realisation expenses amounted to Rs.5000

Show the necessary ledger accounts in the books of the firm.

12. Ram, Rahim and Robert are the partnership sharing profit and losses in the ratio of 4:3:1 on 31.3.1998. They agreed to sell their business to a limited company on that date their position was as follows:
	Liabilities
	Amount
	Assets
	Amount

	Creditors
	16000
	Freehold property
	36000

	Loan from Bank
	8000
	Stock
	26000

	Capital A/c’s
	
	Machinery
	24000

	Ram’s Capital A/c
	40000
	Book Debts
	30000

	Rahim’s Capital A/c
	30000
	Cash
	4000

	Robert’s Capital A/c.
	26000
	
	

	Total
	120000
	
	120000


The Company agreed to take over the following assets at the values shown below.
	
	Rs.

	Freehold property
	44000

	Stock
	24000

	Machinery
	22000

	Book Debts
	28000

	Goodwill
	8000


The company also agreed to pay the creditors which was agreed at Rs.15400. The company paid 3300 shares of Rs.10 each fully paid and the balance in cash. The expenses amounted to Rs.1000.

Prepare the necessary ledger accounts in the books of the firm.
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